3 (Sem-4) ECO

2014

ECONOMICS

( General )

( Indian Economy with Issues of North-East )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oS fal ey eq ot

() What is the present place of tertiary
sector or service sector in national
income composition in India?

T TR TR YR (FAS $O UG T
CRT 4T (T ?

(b) What is the present position of Assam
in per capita income of India?

CAET TS S (TS S T T 2
(c) What is State domestic product?

ST o™ e F 92
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(2)

(d) Why is agriculture called as primary

(e)

0

(9)

(h)

0)
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sector?
PRe 0 21l v 3 o =0

Mention two important challenges of
agriculture in Assam.

ST PR O 2 RS SeEd <5 |

Mention two major crops of Assam.
ST Y51 A4 PR AN S 5 |

Give two causes of low agricultural
productivity in North-East India.

B3-SI FRT A SeAwETOR 751 el
ot |

What is the relation between productivity
and ecological imbalance?

TATAIETS = AR SRTNRTeR 5
b 159

Mention the name of two non-renewable
energy sources of Assam.

PR Y AT SHcAel 2 e My Sray
391

Write the name of land tenure systems
in India.

SRS SRrFY 2AACART I B |

( Continued )

(3)

2. Answer the following questions : 2x5=10

e wa 2] Teg fored -

(a) Mention the main remedial measures to
raise agricultural productivity in India.
SAoe PRT SIS I I & N 24
AfeFE RPN Teas 4

(b) Mention the various sources of
agricultural credit in India.

CIBINERIY T@ 49 RN ﬁ'ﬂ?ﬂ %QW W
9

(c) Write two remedial measures for
improvement of agricultural marketing
in Assam.

PINT PR W I9EE TAfSY M T I@ A G0l

ST 59g] o |

(d) State two reasons of unbalanced
localization of industries in India.

SO THEN SRANIRE BN TiBT PG
v |

(e} Explain the role of industries in economic
development of North-East.

Teg-o79 WSS TrEere Somel gl 3
Sl
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3. Answer any four questions :

(4)

& e oiiRe oxs Teg o

(@)

(b)

()

(d)

(e)
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Explain the reasons of changing sectoral
composition of national income in India
after liberalization of economy.

TAfor TMITTE fige oo wow wREe
crafefes a9efT ARTST SR I F41 |

Explain the necessity of reforms of
land tenure system to raise the
agricultural productivity in India.

SRES FRT Teow Ifaq I PES AU
I LTS ST Jofe] 1 |

What are the important drawbacks of
road transportation in North-East?

Tod-9qq A9 AT RN AU SpIREeEE
f oo

What are the difficulties of railway
transport expansion in North-East India?

Teq-0  TROS  (q AR PR
SRR 6 52

Disinvestment policy will solve the
problem of public sector enterprises
in India. Explain.

ffffcem TeglR SEeR TmEE 49
SRR AP YA SR | 3611 41 |

5x4=20

( Continued )

4. Answer any four questions :

( S)

Explain the importance of non-
institutional sources for agricultural
credit in India.

SITE PR YW ICT SHI-SPINE  SPRY
TG (e 0|

& e vifebr o Teg forr

(@)

(b)
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Explain the features of agriculture in
Assam. Do you think that the Second
Green Revolution 1is necessary for
North-East to raise the agricultural
production?

TP PR CINBETER 3 9 | Teg-ome R
Seom e A @0 oo Red gt
ST PP ?

Explain the various problems of
industrialization in India. Do you think
that wrong industrial policy is one
of the important causes of low
industrialization?

SRy Srmeeas [iew TeirER a9dw 9 |
el Somier ecy FIH Srralieaed «bl o4 IR
el SRS 2

10x4=40
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(6)

() What are the causes of high population

growth in India? Do you think that
population explosion can be cause of
low economic development?

AT TH [TC (TR TR BT FEPTRR

(7))

() Explain the trend and composition of

national income in India after economic
liberalization.

AfSF AFEY Free SR wrelw s A
HE YEICH! 90 97 |

& 2 wRrame wtafss smerRer sRd . o
= = (g) What are the major drawbacks of power
R M oA o - sector in Assam? How is it related to

overall slow economic development?

(d) Explain the role of natural resources

T *fE 499 (P A AfsTmenE & /7o
g3 Afsrmeics foweg  wAAfes  Tagch!

in economic development. Do you think

.that excessive use of natural resources ﬂmw‘% Bt 1

is good for the development?

WO Temwe Al T ek aman 1 P
T APIT T TOIRS IR SHE I

ST Jfel SIRICA 2 JJ

() What are the different weaknesses \
of road transport in Assam? Give
some suggestions to improve the road
communication in North-East.

SPTS “1Y “lfqqze qeER Rifen gdererg & o
Teq-oe oY @R IRER TAfST A A |
SI9RCERT | 4‘

|
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